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Calculus Practice: Techniques for Finding Antiderivatives 4b

Evaluate each indefinite integral. Use the provided substitution.

1) flOcscz —5x - cot* =5x dx; U= cot —5X 2) f—lOcsc 5xcot 5x - csc® 5x dx; U = csc 5%
3) f6sin —2x - cos* —2x dx; U= cos —2x 4) f—16cos —4x - sin® —4x dx; U = sin —4x
5) f20cos 5x - sin® 5X dx; U= sin 5x 6) f—lScscz 5% - cot* 5x dx; U= cot 5X
7) flOsec2 2X - tan® 2x dx; U= tan 2X 8) f8sec2 4x - tan® 4x dx; U= tan 4x
12sec” —4x 12sin 3x
9) f—de; u = tan —4x 10) f—%dx; U =cos 3X
tan® —4x cos’ 3X
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M ade with Infinite C alculus.



15csc? —5x 15sec 3xtan 3x
11) f# dx; u=cot—5x 12) f See 2an dx; u=sec 3x
cot’ —5X sec” 3x

10sec 2xtan 2X 16cos 4x
13) f SCC ~MAN 22 dx; U = sec 2x 14) f& dx; U = sin 4x
sec” 2X sin® 4x
2
15) v[—12005 —3x - (sin =3x)° dx; u=sin—3x 16) f—12sin 4xN cos 4x dx; U= cos 4x

1

5
17) v[—2Ocsc 5xcot 5X - (cse SX)5 dx; u=csc 5x 18) f2OSec Sxtan 5X - (sec SX)6 dx; u=sec 5x

1

il . 3
19) f9cos 3x - (sin 3X)2 dx; u=sin 3X 20) f9sm —3xVcos =3x dx; U= cos —3x

-
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Calculus Practice: Techniques for Finding Antiderivatives 4b

Evaluate each indefinite integral. Use the provided substitution.

1) flOcscz —5x - cot* =5x dx; U= cot —5X 2) f—lOcsc 5xcot 5x - csc® 5x dx; U = csc 5%
g-cot -5x+C —-csc” 5x+C
3) f6sin —2x - cos* —2x dx; U= cos —2x 4) f—16cos —4x - sin® —4x dx; U = sin —4x
3 4
g-coss—2x+C —.sin’ —4x+C
5) fZOcos 5x - sin® 5X dx; U= sin 5x 6) f—lScscz 5% - cot* 5x dx; U= cot 5X
2 3
g-sin(’SXJrC —.cot’5x+C
7) flOsecz 2X - tan® 2x dx; U= tan 2X 8) f8sec2 4x - tan® 4x dx; U= tan 4x
2
%-tan42X+C = .tan’ 4x+C
12sec” —4x 12sin 3x
9) f_isec dx; u=tan —4x 10) '/‘_751;1 dx; u=cos 3x
tan® —4x cos® 3x
SIS 2 ¢

4tan* —4x cos? 3x
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15csc? =5x
11) dex; U= cot —5x
cot® —5x

3

3 ¢
4cot* —5x

10sec 2xtan 2X
13)‘/A see 27l dx; u=sec 2x

sec’ 2X

5

-————+C
4sec* 2x

2
15) v[—12cos —3X - (sin —3X)3 dx; u=sin-3Xx

3
% . (sin —3X)3 +C

1
17) v[—ZOCSC 5xcot 5X - (cse 5X)5 dx; u=csc 5x

6

% . (csc SX)5 +C

1
19) f9cos 3x - (sin 3X)2 dx; u=sin 3x

3

2(sin 3X)2 +C
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15sec 3xtan 3x
12)[ See 2an dx; u=sec 3x

sec” 3x

2 ¢

4sec’ 3x

16c0s 4x
14) f& dx; U= sin 4x
sin® 4x
1

— ; +C
sin” 4X

16) f—12sin 4xV cos 4x dx; U= cos 4x

3
2(cos 4X)2 +C

5
18) f20sec 5xtan 5X - (sec SX)6 dx; u=sec 5x

24 . (sec SX)Z+ C
11

20) f9sin —3X\/3 cos —3x dx; u=cos —3X

4

. (cos —3x)g +C
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